IR A i O P EAIRILIZ DWW T >

Okt 2 — 1

R R 18 AT O T RALIRDL

Ofkt2 — 2

AT R 2 68 AT O T RALIRDL

&gE 2




TRTEELG TR BRI E TR (B R)

XRO6FIES e
HEMETRS -
AR B | i sTorm | ifem | 10fm
. @%@( RS Pk | Bk | oHE | Bk
-y 2, e ﬁi%ﬁﬂ TRARE T
ETE é@fiﬁ( § § S S
BRIARE LU ﬁz’%m f‘: lfﬁf
7200 Hh A G 5 4 4 4 0 0 4 0 4
BRI

/NG 5 4 4 4 0 0 4 0 4
il H ff 3 3 2 2 1 0 1 0 2

e H s i
/NG 3 3 2 2 1 0 1 0 2
TR =S 22 8 8 8 1 7 0 0 8

FRARIEf A
/NG 22 8 8 8 1 7 0 0 8
T Rl e 67 5 5 5 0 0 5 0 5
/NG 67 5 5 5 0 0 5 0 5
TEF R e 2 5 2 2 2 0 0 1 1 2

FHODFH
/NG 5 2 2 2 0 0 1 1 2
ONIE S 31 1 1 1 0 0 0 1 1
[ e = 3 3 3 3 0 0 3 0 3
R BARER (M4~ ~0 ks 1 1 1 1 0 0 0 1 1
SR AR b A B R 3 2 2 2 2 0 0 2 0 2
/NG 37 7 7 7 0 0 5 2 7
At 139 29 28 28 2 7 16 3 28

EtE T S A 21% 20% 20%




SMTEEMYTE FHRFMETR % HERSR) XROWES e
R i T 2
R W [1Tem sTam | uEm | o
o k@ﬂﬁﬁﬁ EATE Lk Lk Lk Lk
s e fﬁiﬁéﬁ@ FHEALE T
%ﬂﬁﬁﬁ S S S S
S b A 3 wrossgp1 g | DT MEM | 10fEM
iﬁﬂ'mf%( LIRS R I
TE 3 (BhEhE) 74 74 4] 37 20 17 0 74
TE I 3 GEKES ) 63 63 63| 45 10 8 0 63
SER
T 2 (T2 7 7 7 7 0 0 0 7
AN 144 144 144 89 30 25 0 144
OPIIErSE o 107 40 401 37 2 1 0 40
SEIPRIR:==5

s o 3 3 3 0 0 3 0 3

B N—R %

)| B K
HEFEA T A 1 1 1 0 0 1 0 1
AN 111 44 44 37 2 B 0 44
&t 255 188 188] 126/ 32| 30 0 188
A EHAEIL 74% 4%




